

Převďte nedeterministický KA na deterministický KA

Příklad 1.

	0	1
→ S	A, B	
A		A, S
← B	A	A, S

	0	1			0	1
→ S	A, B			→ S	[A, B]	
A		A, S		← [A, B]	A	[A, S]
← B	A	A, S		A		[A, S]
				← [A, S]	[A, B]	[A, S]

Příklad 2.

	0	1
→		
← S	A	S
A	A, B	
B		A, S

	0	1			0	1
→				→		
← S	A	S		← S	A	S
A	A, B			A	[A, B]	[A, S]
B		A, S		[A, B]	[A, B]	[A, S]
				← [A, S]	[A, B]	S

Příklad 3.

	a	b	c
→			
← S	A, S		
A		B	A, B
← B	A, B, S		

	a	b	c			a	b	c
→					→			
← S	A, S				← S	[A, S]		
A		B	A, B		← [A, S]	[A, S]	B	[A, B]
← B	A, B, S				[A, B]	[A, B, S]	B	[A, B]
					B	[A, B, S]		
					← [A, B, S]	[A, B, S]	B	[A, B]